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(2) Determine the delay times ¢, of line 1 and t,, of line 2.
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(b) Determine the generator resistance R;.
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(c) Determine the reflection coefficient P1; 2t the junction between the two lines.
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(d) Determine the transmission coefficient p,; at the junction between the two lines.
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(¢) Determine the reflection coefficient Py and the transmission coefficient P, at the

Junction between the two lines.
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(f) Determine the unknown terminating resistance R..
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() Determine the steady-state voltages (i.e. for # — o) at the input of the first line (A-A’) and
at the input of the second line (B-B’).
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